g ;ﬁ i o il %
IN 15 B %% x B = # 3
PO & I I i | HEAS UEL R gk AL W OO AN 1 )i i 1) U2\ 20 BB OB = 1 1 P B T = A B IR R @ §
7900~33,270 | |® & ¥ & & E | 143km 61km 57km
‘800~32,050 || W W 4| 2,860knt 620knt 368kn ﬁvz/
7000~0,000 || PEEFFE X AR R | 81 102.4km %I 86.4km YR/l 10.0km | #:)I] 19.4km %Il 3.8km JRJIl Okm | 18.7kn
1t00o~0000 | |_. | BEAFEKFE GE#) 10,0000t/ SEAR R K FR G 3,500m s B KR 2,500ms %
sFOm R K WoE | L . L .
“400~0,000 [~ SIS KR Gid)  6,000m’/s B KRR (/D E) 3,000m/s NN
[ P W R | 18T I 2HT LA 5ili4HI2 44 3t \\_m//J/{
oo & W;E/TJ} %%}Y{? g‘%@j WWWﬁE inj:g—f % il
600~47,/900 | et ZaZe e 2
soo—is 500 [N REPEAK—ER KM P A B (R %m)
100~0,000 |8 & | BEE | Sste E - B & | HEBS | BARS|ERN| B % | mES | oans | “Q/
. g | O | 28¥H | O EEH | O 0
,ﬂ _ | man | O | S | O % | BTG | O ;y 7
% N\&H | O % wWiE | O wiEm | O o @
AZ@H it ] = |1|A]
rEE | p
_ APFEH | O - J\&TH SEER| FPE | O o
o & SHE | AT j AT | O AT Q g W
7450~64/7600 ; ] vEi7:} IR | O FISED | SHY G Qi\%\
i J\ZEB | BART e
, =g NEH™H HE® | O 5
y 251 K L | A
500~0,000 | SRERH 3] SEEH| O | 0 RS2 <
300~0,000 %( REANE | R2ER | FaRSHET =B | RKH] 7 B g
| T — o J\KEB | I5)I1E] g | AT :
R, »u.iEﬁWE?ﬂZB—%?%(a%;fﬁlll)g =HE | ATEET | O HLEH]
400~0,000 E Eiﬁﬁi O SE R AUET izl ISk 3]
B " { 2 fs BEAIE \
 00~0,000 iR | m | MEm | O | SIS AR | | NEE
00 000 T /) EIBT
) ~ z
o W 77 Shi S w
Wi % ]
/700~0,000 — | B o | ww ww | X I
—— | X Ml ww @ & o % A
100~0,7000 == | K - |# & o x A
Z% ﬁﬁ%% — 5 T O
i% — k& 0 e % e A

nER/ITI&FH



